
EX Se) 

in the hanKs Do these mena. 

aal 132 

6x1 5 

dK/2= 192 

e 16xlb256 

f5x 5= 225 

h25 x100O=25,000 

i34x 10DO 34000 

QMoHPly 
Q97% x L 



317 
88O 

37 76 O 
56,6 41 O 

SO. he Prroduct is 56buO 

bL6LLA 43 

46 
X 3 

523 
t 6985 6 

75 09 52 

So the Prrod.uctt isJ50952 



C 4x 12 

5 
24 

6 86T 
y 30 8 O 

2154 OO 
26 706 

SO he Prroduct is 2,67,096 
d5383x 332 

53 3 
X33 2 

TO76 6 

9 
187 5 6 

So the Broduct is 18115L 



Dta 

e632lK2 

632 
16 2 

37 9440 
+ 42680 0 

8188 8 

So the Paaduetis HSlgsss 

L2616 x 35 

X 35 
2308 0 

27 8 u8 0 
49|56 0 

SO the Pnadud is L9l560 



g1S74 x I7% 

18714 

228 
30g980 

LSz/400 
3293 664 

SO_the Paadueis 32264 

hgSLOx 323 
3860O 
X 32 

26 5 8 0 0 
I77 2 00 0 

t 6580. O 
286| 78 0O 

Sthe nodnc 28617S00 



Date 

pnge 

i334SID x 21 

3348 
334 8 10 

669 2 00O 
7 03 OTO 

SodhePraductis 103Lplo 
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